E2E 2 TWaLahAER) F1H
R
1) z=1,y= 2) z=2, y=-1 B)z=1,y=2
4) =3, y=—2 (5) z=-1,y= 6) =2, y=-1
1) z=1,y=2 z=—1 (2) 2=3, y=-2,2=
(B)mzl,y:%,z:—l (4)x:2,y:%,z:1
(){ . { .y (){y:4 { 77%

(1) H1AX+82X XD, 22=2,2=1%koT, F1AFLEFHE 2RALTy=2%K2%

2) HIX -2 &b, —2=-22=2%>7T, BIXREFLFFE 2RNCRALTy=-1%283

B) HB1IAXx3+F2X kb, so=52=1%o7C, FB1IXFLEHE2RALTy=2%753

(4) H1RXx3+82: &0, 100=30, 2=3 koT, HF1AFLIHE2RCRALTy=2%153

(5) 1A+ 2Ax2 &0, 1Te=-17, 2=-1 ko T, F1XFLEFF2RRALTy=2%2183
6) 1N x4+52x3 &, 232 =46, 2=2 ko T, F1AFLEFE2RCRALTy=-1%213

L) IR+ HE2R KD, Br+52=-2 O, F1IAXAXx3-FE3IX &Y, —24+72=-8 ---©Q,
D+@x3XD,202=-26,2=-1%oT, QIRATBZLICLD z=1%15%.
r=1,2=—-1%2H1X~F 3ROV TIUDLIRAT I Ty=2%15%

2 H1 -2 &b, 20—y=-4---@©, F1AXx2+FE3IX &Y, dv—y=14 ---Q,
O-®@ &b, 6z=-18,2=3 &oT, (1) LAMKIHEDEL L Ty=-2,2=1%15%

(3) IR +H2R &b, 32+22=1---@, FE1RXx2+FE3RX &b, 52 -42=9 ---©Q,
Ox2+®@ &b, 1lz=11, 2=1 k>7T, (1) tlﬁl#ﬂ%a:i&@%:tfyzé, s=-1%18%

(4) HB1RAx2+82RX XD, 4o +52=13 --- @, F1RXx3+FE3X XY, Tx+52=19 ---Q,

D-@ kb, 3z=—6,0=2 koT, (1) LAKICHEDZ LT y:%, = 1%8%

L) y=3 -2 BE2RICRALT,
222 -~ (3—2)2-32+5=0
224+3x—-4=0

(x+4)(z—-1)=0

r=-4,1
r=—-4DrE2HEIRNWRALTy=7
=10t ZHEINCKRALTy=2%27K5%

(2) y=—2z 28 2 WRALT,
322 + (—22)% — 2+ (—2z) =20
722 + 42 —20 =0
(7Tz —10)(z +2) =0
_ 10
xr = 7, —2
r=-"20rEHE1IACRALTy=4%152%

r=WorsmiteriLcy= -2 #@z





